T A
A kL = = (AR %) 147, 220TH]
= e —m
Lotk L6 1S S L (A FeBidk &)
EI E L= = = mh \“,“,77I:l f
LB Rk BT s BT TR R TR GO
1. A AL H K S5f 34 5H 7H 13304 VEE O ER WEEEER %LEEW%
K4 EHOE—
ES = 4 %51 B 458 %5 2 [0 4 %8 %5 3 a4 %H WO 4 B i
WA T w7 (BR) 131, 900, 000
e AR (KR) i B
RAREERR (BR) 136, 800, 000
TEEPAEER (BR) 130, 380, 000 | # &
FHE AR (BR) 134, 800, 000
() sk 145, 000, 000
BRFEERR (BR) 142, 800, 000
FREAEIT, AMLERRBEL 72O LEESFED 1 105D 1 0 0IHYTHE84ETH D,

TRABE 9 950 2 DHEIT LV FEEZK




